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AVS30
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1994
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AVS30
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Vs=750m/s

Q (1999) Vs
1
=+
0.5 =+0.25 1994
+0.25 (2003)
9 +0.25
(2003)
(2003)
3 3 1-15.
(1999)
B-2 253-254
(1994) 22
23-34
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gf/cm? Vs(m/sec)
Bs 12 1.80 180
F 10 20 12 1.70 170
Ad 10 20 12 1.70 170
Ap 0 3 1 1.10 110
Acl 0 5 3 1.40 140
Ac2 5 20 8 1.60 190
Asl 5 30 15 1.80 190
As2 15 35 1.90 250
Agl 30 40 2.00 280
Dc 35 15 1.80 260
Ds 10 40 1.90 320
Dg 30 50 2.00 360
Ut - 2.00 450

N 3

gf/cm Vs(m/sec)
Bs 7 1.80 150
F 6 1.90 140
Ad 6 1.90 140
Ap 2 1.20 120
Acl 4 1.50 150
Asl 6 1.80 180
As2 25 1.90 220
Agl 38 2.00 260
Dc 11 1.80 260
Ds 27 1.90 290
Dg 50 2.00 360
2.10 450
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